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Time: 30 minutes Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. If your information on the pre-printed label is not correct,
please inform the invigilator immediately.

3. For each question, you will be asked to choose one option
from the list. Use a pencil to circle ONE answer only.

4. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

5. Diagrams in this question booklet are not necessarily drawn
to scale.
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1) 3+5%/1»? [3.8%]
Whatis 3 + 5?
A. 7 B. 8 C. 9
D. 10 E. 35

2) EH—EBUKREE. [3.9%]

Count the number of fruits.
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3) 7+62%1? [4.0%]
Whatis 7 + 6?
A. 10 B. 11 C. 12
D. 13 E. 14

4) 1t 7 BEHBREIE T—(ESE2SEHRE? [4.1%]

Counting backwards from 7, what is the next
number?
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5) MBI—I&EAFRE"? [4.2%]
Which route is the shortest?

B — —®
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6) M—EZFLE 11 K57 [4.3%]
Which number is larger than 11 by 5?
A. 12 B. 13 C. 14
D. 15 E. 16

7) RIFHRE, KHEFEENEF. [4.4%]

Find the missing number.

19,16,_7? ,10,7,4

A. 15 B. 14 C. 13




8)

AT —{B AN IERE?

Which of the following is not correct?

A.

9tk 8 K
9 is larger than 8

7 Lt 12 /I
7 is smaller than 12

11 tE 10 X
11 is larger than 10

19tk 13 /]
19 is smaller than 13

16 L 6 X
16 is larger than 6

MathConceptition 2022

[4.5%]
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9) MEF 4 KR, MNAF S KER. MEF  [4.6%]
3HHER. = AHEBERZ DAL?
Sam has 4 candies. Peter has 5 candies. Mary
has 3 candies. How many candies do they have
in total?
A. 8 B. 9 C. 10
D. 11 E. 12
10) MEETI3HITRE . ME—XKIZT 35, £ [4.7%]

—RRZT 5 K. fth—HRZT B DRITEA?

Thomas bought 13 chocolates. He ate 3 chocolates

on the first day, and ate 5 on the next day. How
many chocolates did Thomas eat in all?

A. 5 B. 6 C. 7
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11) EMHEUTFIEEELS M O 2 (4.8%)]

How manyj are needed to build the solid
below?

A. 8 B. 10 C. 12

D. 13 E. 14

12) RIFFE, IHHEBRENEE. [4.9%]

Find the missing shape.
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13) TEHiEmM—EER"? [5.0%]

Which shape is not in the picture below?

A
7
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14) S REEHM. 12 REIEEH%"? [5.1%]

Today is Thursday. Which day of the week
was it 12 days before?

N . c E#=
" Monday " Tuesday " Wednesday
EHim . ESE . EHA
" Thursday " Friday " Saturday

EHH

Sunday
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15) U THEEBHNEEES D [5.2%]

What is the total value of the coins below?

A DTT6 =2
" 5 dollars and 60 cents

5 679
" 6 dollars and 90 cents

c 771 ):é
" 7 dollars and 10 cents

P10
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16) TFIHF & A B MELE S 2 [6.3%]
How many squares should there be in the
sequence?

OOOOO0
800880 Q3000 AAA
288288 00000 ? AAA
OQOOO0O0O '
OQO000 Y9I A A A
O00000 CO000

A. 10 B. 12 C. 14

D. 16 E. 18 F. 20

P11
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17) TEI+EEZMERER? [6.4%]

How many rectangles are there in the
figure below?

A. 5 B. 7 C. 9

D. 10 E. 11 FF. 12

P12
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18) BISERIMNEEZMEA| A |? [6.5%]

How many | A | should be placed at the
question mark below?

=
A T
M A T
M A M T
. o o X .
H
H
T H ?
T H H
. o . = .
A. 1 B. 2 C. 3
D. 4 E. 5 F 6

P13
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19) fELLTRE=E . [6.6%]

Solve the following puzzle.

A 7
e

P14
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20) /J\kE¢E1 2 20 ZIHMEEER L., haaHET  [6.7%]
% /D EELAL?

Peter wrote the number 1 to 20 on the
chalkboard. How many digits did he write on
the chalkboard?

A. 20 B. 22 C. 24

D. 27 E. 30 F 31

G. 33 H. 35 l. 38
£ET

End of paper

P15
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